BAOEIB R RIBIKT =AKE (T IVR)
BH & 2 IH

T AR T =AM
WE . =T yhray

1. G HREESGAT

HicH VR314FE4ATH () 4148 (B) . FlHH4H21H (H)
IR OfF 7n5 21K
it UNR—PARRR—Y L — T=2a—b (5 # )

X AATADRHRARLECHIEOEAITA4B 14812, 14 IEOHEAIT21 B ICFNFRBEIEIZ /2D ET,
3 RAWAT - P UIEOHIMHIT—FTITWETOT, % B a— MR THERL TIEE,
IR EZ T — A DI RUET,

2. flH LA T IE
—RE TR - RTFFUHETA45 - RFFSUBTF55 - _RFF5UHT65
— 1 « RFFGUFA0 - XTFTUF50
— B 7 AR HE
MKERE. 67— —T R (5—54A7 L —7) TITWET,
KRS BOBE T —E 2V AR2KT DT,
HKEHNI LT vy TT, FEFOa—MIBZz 578 Ta—L L TLIEEN, )

3. =R iR

AR7H CGELIRH) 4H14H (GF2HH)

Gt g&h% Gt *Eﬁﬁ *ﬁ&“%
T t H\ ~ EE[ EEI N t E\ o5 Wy
fetr B BRE [ T B¥55 | B+65 T ORE| 51745 = Z+-40 | %50 Ene

8:50 A,B,C 8:50 B o=

- = ] 2,3,12

10:00 2B 10:00 131519

12:00 =1 11:00 |28

13:30 D,E 13:30 =

16:00 | F,G,H 14:30 =l
4. F D,

TR a7 OB ER0IEFIIRBEN—F AN 2H B) OR e —(L# R EORERELITVET,
2B ZOGEIZRGE BT 77 AR O EbHY T AR TOEE A,
H 5 F B LU OB FLISMNIa— I AN EE A, BIERITBIR G2 E DT> TTEE Y,

5. i T 7 LUK H R
HWMr57  fFRES HoValT— T o— R

4HTH (BB1HB) 4H14HGE2H B)
8:40 ~ e e -
14:00 i X7
13:40 ~ =
19:00 Hropg YoalT g

KA DRIV T H O AT ARL TRV S E T,

6. R2EE KRRZAR BIERM ®BIEAER HPHHE  BitdEAER MR
A EEE AT B O R 1 HolL, BEH AR



1 &HH #HIr
2 1h e}
3 AUl K
4 95 o

5 &R BB

6 AL WL

T IR KA
8 1k il
9HE ks

10 YLVE G5

12 B85 9N

13 2 A
14 2% F52
15 [ I

16 A Fae
17 BYE

18 [ H (A

19 1A $hE
20 (LA IEAE
21 75 RIr
22 <P HEST
23 BYE

24 Hgnh J=Ek

— & B F TR

-\ A=324
(& &)
(D2 X)

(Prval7qg—) ——

(b7 A V) —

- 4e)

(RF LK)

B7uy/
(b 72 V)

(&FE M)

(TTC) S

(T AzR) —

(RFLR)
#n Ak)

Cr7myy
E'T<)

(A1)

(2 —

(% %) —

(7 A=)

A=A
(b7 AE)

(F74—)

(Fa=fr—T=my)

(2 —

DA =S4
25 KA HE (FpE)

26 3k g (B R

27 QT #2aE
28 ML Fh  (F3) —_—

0Y) —

29 goN ==

(Zla=l—Tay)

30 BEMH (& &)
F7av”

31 /i AR (RX)

32 HY B (L A)

33 FK[E] K—EF (hy 7 AEY) —
34 BE —f (1A —

35 1Lk BAL (Ea=b—iay)

36 BEH ARk (& )

G7ayy

37T LW R\ (TA=YH)

3
il

WL iz (b7 REY)

39 HH OMER (M db) —

40 fEfp & (Ry7a—) _—
41 BYE
42 |Lig it (T hk—)

H7 vy

43 BR+H EL (TRavh)

44 /KN B (K B

45 eflg Kk (rovalrgqg—) ———

46 Fiig K- EU) —

47 BYE

48 A it (TybhiR—24)




RFFBF 45 RF5BF55
1 #HE —Z  (TTC) -

1 By Fnke (TTC) —_—
2 B sgif (UR—H%AaK) —

25l B2 (Brvalrag

3 EN ez (1 A) —

3IME F#E (E M) —

C

4 [l (7ohhR—2) —
4 HHE S B R) —

5 &I (De 3 X) —
5 8w (UN—PAR) ———

6 e Hz  UN—PAR) —
6 5H M (TyhR—2L) ——

T FEE OSHL (L A) —
TIEK FHE (TTC) _

8 @Il &EF  (FX) —
s W & (FrvalFr——

9 TH WE (& ) —
9 BYE —

10 /D AE—EB (D37 X) —
10 2% yEt (W0 db) —
— 118 &= (L =) —
11 =20 B OdX) —

12 Atk BIE (Tybh—2) —

120 RE (E )
} 13 BEM & (E M) —
135 B i)

14 [ HHE 2 (A=nyzh'—=) —

14 fgH e (Tybl—»4) ——

15 FiE EC (FFpg) —

15 Wifg Ferg (b pd) —

16 P R (TTC) —

16 & #—  (Tybk—Li) —

17T R FF JS—AR) —

18 /NE 52 (Tyhbh—2) }
19 77 Zhe (M)

20 [#] Fnz (RyFSa—y) ——




8 i
9 A
10 £

=

AR Itk

F

FoES

JARR

il

JKE
HERE

11 APRH —

12 5K
13 o
14 )15

15 Al

16 /K

A

@_

bl

ek

EEES

il

5 KLA&

4 B 8T

5 WA FT

6 /K
7 g

8 JIAY

&7
B

A

RF5 B F65

(hy 7 AEY)
(D729 E)
(RyFa—r)
(v )

(F7 1)
F71—)
(b7 AEY)
(L )

(F )

(F )

|

(F71—)
(hy7"AE)
(F=My=t'=)
(hy7"2E)
(k)
(ralrqa—)

(F7 1)

RFF5 7 F50

(7 Az h)
(& &)
(hps)
(A=Ay=t'=)
(L )
(UrR—=HAR)
k)

(by72EY)

10

11

12

7

8

9

AT

E ® &

BYE
N
55k
KA
LI

HET
HHT

TP Ir

10 BRIl Bk
11 Pl TR

12 KA Hifk

—h T

(7w hAR—2)
(TEYV)
(UR—HAR)
(U= AR)
(k)
(RFVR)
(& )

(v )
(UR—HAF)
(F=ny='-)
(UR—HAF)
(R &)

T EF40

(R &)
(- Jk)
(b7 2E")

(& &)




1 B
2

3

4 Al SrE
5 =% &k
6

7

8 Kbl EE—
9 fi® H
10

11

12 551 #&
13 JLA [T
14
15

16 /M 7%

— &k F F R B

(KFLR) —

(TohR—2) ————

- Jb) —

(KFLR) —_—

(TAaAYh)

(7 7)

(KFAE)

yE)  ——



